

$$\frac{\text{Prop}}{\text{Alt}} (A) = \lim_{i=1}^{N} \lambda_i = \lambda_i \lambda_2 - - \lambda_n \quad \text{when the}$$

$$\lambda \quad \text{are the eigenvalues}.$$

$$Pf \quad du(A - \lambda I) = (-1)^{n} \lambda^{n} + (-1)^{n-1} tr(A) \lambda^{n-1} + \dots + (-1)^{n-1} tr(A) \lambda^{n-1} + \dots + (-1)^{n} (\lambda - \lambda_{1}) (\lambda - \lambda_{2}) \dots (\lambda - \lambda_{n})$$

$$= (-1)^{n} \lambda^{n} + (-1)^{n-1} (\lambda_{1} + \dots + \lambda_{n}) \lambda^{n-1} + \dots + (-1)^{n} (-1)^{n} (\lambda_{1} \lambda_{2} \dots \lambda_{n})$$

$$tr(A) = \alpha_{11} + \alpha_{22} + \dots + \alpha_{nn} = \lambda_{1} + \lambda_{2} + \dots + \lambda_{n}$$

From
$$A = a_1 x^2 + ... + a_1 x^2 + a_0$$

$$A = a_1 \cdot 0 + a_0 = a_0$$

$$A = a_1 \cdot 0 + a_0 = a_0$$

$$A = a_1 \cdot 0 + a_0 = a_0$$

$$A = a_1 \cdot 0 + a_0 = a_0$$

$$A = a_0$$

$$A = a_1 \cdot 0 + a_0 = a_0$$

$$A = a_0$$

$$A = a_1 \cdot 0 + a_0 = a_0$$

$$A = a_0$$

$$A = a_1 \cdot 0 + a_0 = a_0$$

$$A = a_0$$

$$A$$

Let A be a symmetric matrix. $(A = A^T)$ (AER) All eigenvalues of A are real. (w) If λ , in one distinct eigenvalues $(\lambda \neq \mu)$ mi U, I Um. (~, ~, ~, = 0) All symmetric matrices have on orthonormal basis of eighventers. $A = Q \Lambda Q^T$ when Q is arthogonal A diagnal matrix & eigenetus Spectral decomposition

Sup) If A is symmetric
$$(A\vec{v}) \cdot \vec{i} = \vec{v} \cdot (A\vec{w})$$
.

 $(A\vec{v}) \cdot \vec{w} = (A\vec{v})\vec{v} = \vec{v} \cdot (A\vec{w}) = \vec{v} \cdot (A\vec{w})$
 $(A\vec{v}) \cdot \vec{w} = (A\vec{v})\vec{v} = \vec{v} \cdot (A\vec{w})$

Symmetry! $= \vec{v} \cdot (A\vec{w})$
 $(A\vec{v}) \cdot \vec{w} = (A\vec{v})\vec{v} = \vec{v} \cdot (A\vec{w})$

Symmetry! $= \vec{v} \cdot (A\vec{w})$
 $(A\vec{v}) \cdot \vec{w} = (A\vec{v})\vec{v} = \vec{v} \cdot (A\vec{w})$
 $(A\vec{v}) \cdot \vec{w} = (A\vec{v})\vec{v} = \vec{v} \cdot (A\vec{w})$
 $(A\vec{v}) \cdot \vec{w} = \vec$

λ & R.

(a) If A = AT, the

(b) If
$$\lambda$$
, μ one distinct cognition ($\lambda \neq \mu$)

then $U_{\lambda} \perp U_{\mu}$. ($\vec{v}_{\lambda} \cdot \vec{v}_{\mu} = 0$)

If $S_{\nu}p_{\nu}v_{\lambda} \quad \lambda \neq \mu$. Let $v \in V_{\lambda} \quad w \in V_{\mu}$.

$$\lambda(v, w) = \lambda v \cdot w = \lambda v \cdot w = v \cdot Au$$

$$= v \cdot \mu w = \mu(v, w)$$

$$A(v, w) = \mu(v, w)$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v, w) = 0 \qquad \lambda - \mu \neq 0$$

$$(\lambda - \mu)(v,$$

an orthonormal basis of eigeneuters. All symmetri matrices have ul repeats λ,,..., λω k district eigenralies know this! λ, ,..., λκ G-) -(VX, T VX, T T VX each of them

(ndividually / V, he or eigenetur. Cosiar W = Spa(v1) (din (w) = n-1) By induction Whas orthonormal basis of eigenventors A) W 15 still symmetric. W., ..., W. Crestics optimal read. $\longrightarrow \frac{1/\sqrt{N}}{N}, N^{2}, \dots, N^{N}$

(a) $A = Q \Lambda Q^T$. We know from part (c) that A is dragordizable. Puh U, -- un. Tu Q = ("" ... ") OTAQ know this! A = QAQT G-3 w NY' T NY' T --- T NY' each of tem individually orshonind basis & eigeneuters & A Again to find the find the eigenspaces and G-S on each synmetric matrix,

Corollary A matrix K is pos and iff all of its eigenvalues are
$$\lambda > 0$$
. Then K is pos and iff all of attractions are position?

Ext Find an orthonormal boasis of eigenvalues for the matrix

$$A = \begin{pmatrix} 6 & -4 & 1 \\ -1 & 6 & 4 \end{pmatrix}$$

$$A = \begin{pmatrix} -1 & 1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\ 1 & -1 & 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 1 & -1 & 1 \\$$

If λ , λ_2 , λ_3 are integers then we have a finite amount of possibilities.

$$216 = 2^{3}3^{3} = 8.27$$

$$= -(\lambda - 2)(\lambda - 9)(\lambda - 12)$$

$$= -(\lambda - 2)(\lambda - 1$$

λ3 = 12

$$V_{\lambda=2} = |w(A - 2I) = span(\frac{1}{2})$$

$$V_{\lambda=12} = |w(A - aI) = span(\frac{1}{2})$$

$$V_{\lambda=12} = |w(A - 12I) = span(\frac{1}{2})$$

$$V_{\lambda=12} = |w(A - aI) = span(\frac{1}{2})$$

$$V$$

$$\binom{1}{5}$$
. $\binom{1}{2} = \frac{1}{2} = \frac{1}{2} = \frac{1}{2}$

As preducted!

 $\begin{pmatrix} 1 \\ 1 \\ 1 \end{pmatrix} \cdot \begin{pmatrix} 2 \\ -1 \\ 1 \end{pmatrix} = -1 - 1 + 2 = 0$

A
$$\lambda = 1$$
 $\lambda = 2.2$ Depected not $s \Rightarrow 6.5$

$$= spar(\frac{1}{2})$$

$$1 = 2^{2}$$

$$1 = 16x = 16x = 16x = 16$$

$$1 = 2^{2}$$

$$1 = 2^{2}$$

$$1 = 2^{2}$$

$$1 = 2^{2}$$

$$2^{2}$$

$$2^{2}$$

$$2^{2}$$

$$3 = 2^{2}$$

$$4^{2}$$

$$3 = 2^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$4^{2}$$

$$\begin{pmatrix} -3 \\ 3 \\ 1 \end{pmatrix}, \begin{pmatrix} 1 \\ 0 \end{pmatrix}, \begin{pmatrix} 1 \\ 0 \end{pmatrix}$$
 is not orthogonal basis
$$(2-1)(-7-1) - 3b \qquad (2-6)$$

$$-14 + 7\lambda - 2\lambda + \lambda^2 - 3b \qquad (-3+6)$$

$$\lambda^2 + 5\lambda - 50 = (\lambda - 5)(\lambda + 10) \qquad (-3+6)$$

$$V_{1} = \begin{pmatrix} 2 \\ 1 \end{pmatrix} \qquad V_{2} = \begin{pmatrix} \frac{1}{2} \\ \frac{1}{2} \end{pmatrix}^{2} + 1^{2}$$

$$||V_{2}|| = \int \frac{1}{2} \frac{1}{2} + 1^{2}$$

$$= \int \frac{1}{4} + 1 = \int \frac{5}{4} \frac{1}{4}$$

$$||V_{2}|| = \frac{\sqrt{2}}{||V_{2}||} = \int \frac{5}{4} \frac{1}{4} = \frac{1}{2} \frac{1}{4} = \frac{1}{2} \frac{1}{4} = \frac{1$$

 $=\frac{1}{\sqrt{5}}\left(\begin{array}{c} -1\\ 2 \end{array}\right)=\left(\begin{array}{c} -\frac{1}{2}\\ \frac{2}{\sqrt{5}} \end{array}\right)$

 $2\left(\begin{array}{c} \frac{1}{\ell} \\ -\frac{1}{\ell} \end{array}\right) \longrightarrow \left(\begin{array}{c} 2 \\ 2 \\ 1 \end{array}\right)$

= (-1)